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MEC-101 : MICROECONOMIC ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions from each section as per 
instructions given. 

SECTION A 

Answer any two questions in about 700 words each. 

In case of numerical questions, word ,  limit does not 
apply. 2x20=40 

1. Explain the Envelope theorem. A firm produces 

output q using one factor input K, such that the 

production function is given by q = f(K). Assume 

price per unit output 'p' and per unit factor price 

as `r'. Define the profit maximisation problem 

and find out the expression for profit maximising 

supply of output q and net supply of factor K 

using the envelope theorem. 
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2. (a) Consider a pure-exchange economy of two 

individuals (A and B) and two goods 

(X and Y). Individual A is endowed with 

5 units of good X and 3 units of good Y, 

while individual B with 3 and 4 units of 

goods X and Y respectively. Assuming 

utility functions of individual A and B to be 

UA  = XA  YIZ and UB  = 4 YB, where Xi  

and Yi  for i = {A, B} represent individual i's 

consumption of good X and Y respectively, 

what will be the set of Pareto optimal 

allocation in this economy ? 

(b) Determine the conditions that need to be 

fulfilled by an allocation to be termed as 

Pareto efficient allocation. 

3. (a) What do you mean by value judgements ? 

What is the role of value judgement in 

welfare economics ? 

(b) Define the concept of social welfare 

function. Distinguish between Benthamite 

welfare function and Rawlsian welfare 

function. 
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4. Consider a Cobb-Douglas utility function 

U(X, Y) = Xa Y", 

where X and Y are the two goods that a consumer 

consumes at per unit prices of Px  and P 

respectively. Assuming the income of the 

consumer to be M, determine : 

(a) Marshallian demand function for goods X 

and Y. 

(b) Indirect utility function for such a 

consumer. 

(c) The maximum utility attained by the 

consumer when a= 
1 
 Px  = t 2, P , = 8 

and M = 4000. 

(d) Derive Roy's identity. 
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SECTION B 

Answer any five questions from this section. 	5x12=60 

5. What is the difference between Hicksian Demand 

Function and Walrasian Demand Function ? Do 

you agree that Hicksian Demand functions are 

always downward sloping irrespective of nature 

of commodity ? Give reasons in support of your 

answer. 

6. Given the two individuals (A and B), von 

Neumann-Morgenstern (vNM) expected utility 

function : 

UA  (M) = 

UB  (M) = 3M 

Comment upon each individual's attitude 

towards risk (risk averse/risk lover/risk neutral). 

7. (a) Consider a monopolist firm that can 

discriminate between two markets A and B 

facing the respective demand curves as : 

1 
qA  = 120 — —2  PA  

q
B 

= 100 - PB 
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The total cost function is given by 

C(q) = 200 + q2, where, q = qA  + qB  is the 

total output. Find the profit maximising 

quantities sold in both the markets and 

also calculate the profits if the firm can 

successfully price discriminate. 

(b) Derive the elasticity condition required for 

the successful price discrimination in the 

market. 

8. 
(a) Write short notes on linear production 

function and fixed proportion production 

function. 

(b) Consider an economy where firms employ 

two factors of production Labour (L) and 

Capital (K) for the production of 

commodities X and Y. Derive a Production 

Possibility Curve using an Edgeworth box 

for production of such an economy. 

9. 
(a) Explain the problem associated with 

Asymmetric information using the 

Principal-Agent framework. 

(b) What do you mean by adverse selection ? 

Explain in this connection the Pooling 

equilibrium and Separating equilibrium. 
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10. What are economies of scale ? Do you think that 

economies of scale determine the shape of a long 
run average cost curve ? Give reasons. 

11. Consider the pay-off matrix of a game given 
below : 

(a) Does any player have a dominant strategy ? 
Explain the existence of dominant strategy 
equilibritun for this game. 

(b) Solve for the Nash equilibrium. 

12. Write short notes on any three of the following : 
(a) Expenditure Function 

(b) CES Production Function 

(c) Bayesian Nash Equilibrium 

(d) Pooling Equilibrium 

(e) Second Welfare Theorem 
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